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WQIf CAIS. datQd ggnd AutmBt IQlfe.

As pointsd omt eonforenoe with Coansei, I thinls that the

method of valuation outlined by Ms* Banean in the pamgraph eoaEaeacing
^Another, and I thialc better way® ie unsound and could be upset uader

er 0 es-©JBSuaina t ion,

He estimates the oreeeat value of cars to b® sompped at the

end of ten years as follows;-

Bogies at ̂ 57. with a residiml value of ,
■  Standard St' A/- ' ■ . 'tv- ' . "'Oo,-' £1$,

Biunaiies at f28.13A do* fio.

fhis method ignores th© "use® value of the car during the ten
year®.. ■ • '

Mr. Duncan assumes that a probable purahaser, anticipating ten
years use upon the ©xisting cable tramays, would only pay £57 for

the use of a Bogie Car during that period; the car having a

residual value of <£;

I think it must be admitted that as long as the cable sw^atem

is con tinned (say lo years) a Bogie Car is worth the interest at

least, upon about £350 {its present structural cost). It therefore

follows that the probable purohesef would willingly rent the car
for ©ay .£17.10/- per annum, and would in addition, as the Company
has done, maintain cmd repair the car.

If therefore, he bought the car for £57 a© valued by Sr. Duncan,
he would save £70 rent in the four first years and have the use of the

. car rent free for the last six years, and a residual value of £g©,

e<auivalent to-m prof it of £13B.

^  . If th^s.:ia6thdd'ror: reasoning ■ is^to- b© used ,^th®
Would, 2 think, be the su^ i^ioh, if borrowed by the purchaser at 5^

interei^ ̂ d rbduced by £17.1<A per annum ( in lieii of rent) would
reduce the amount borrows to M2Q- at the end of the tenth year.

®he sum he could t^^^^ to pay out of borrowed money would
be about £150 as out in sGhedul® attached.



OF BQQIl OAS

QW-M^Q AT a t,0

It i© E8&uiii©(i tliat til© pux'cfest©©!''borrow® &,^0 at izitoroat ami

rsdueeB ibis ia4«bte4iie©s by aa gtmaaal payssat of £X7,io/*

( tlie QBtiraated rontEl value of the Bogie e©??).

A t end mP
Annual payment
by Purebaser.

1st year

Snd ®

3^'4 ®

4th e

5th »

6 th « ;

7th "

8th ®

9th ■

10 th "

Beduotioh Q#
Principal

£7*5

7*

6.47

5,92

5,34

4.73

;4.09

3,4P

7i?

1.98

£10

l%5

11.03

11.58

12.16

12.77

13,41

14.08

14.78

15,52

Amount still
■.> 4u0,^

140

129.5

118.47

106.89

94.73

81.96

68.55

54.47

39.69

24.17

ihis would reduce the amount borrowed to about
V  ■ ■

■^4. 3. 4 (residual veaue),.

H© could therefore afford to pay about £150.

At end of

OW THIS BASIS OF A FIVU lOSABVS hlF®.

he oouid ^fford to say ^9,
Annual payment
by Purohaset.

■">or .'v" iiedhbtidh "or* Amount still due.

lat year,

2nd ««

3rd »

4th «

5th ,

4.5

3.85

3,16

P. 45'

li.

"  ■ 14. 34 ^

■  15.05 ■ "
■15..81 , - .

^hi s would reduce the ^ount borrawed to

£18,3A residual value.,.

77.

63.35

49,01

33.96

18,15


